
Section 4 
Assembly and GDB 

 
1. Assembly to C: What does the following code do? 

 
(14au midterm) 

 (((*x) * 6) & y) - y 
 

2. C to Assembly: 

  
(15au midterm) 

happy:  
cmp %rdx, %rsi    # y:z  
jle  .else  
leaq (%rsi, %rdx), %rax # y > z    %rax = z + y  
ret  

.else:  
movq (%rdi), %rax # y <= z %rax = *x  
ret  
 

Also fine to swap the if and else clauses:  
 

happy:  
cmp %rdx, %rsi  #y:z  
jg  .else  
movq (%rdi), %rax # y <= z  %rax = *x ret  

.else: 
leaq (%rsi, %rdx), %rax # y > z   %rax = z + y  
ret  


